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Name: ________________________________
1.5.5 Business choices
1. Which one of the following is the best definition of opportunity cost?
a. The financial loss of an alternative venture not pursued
b. [bookmark: _GoBack]The cost of any alternative decision foregone
c. The cost of the next best alternative foregone
d. A decision that has not been pursued due to the high risk
Explanation:
_________________________________________________________________________________________________________________________________________________________________________________________________________________________________

2. Which one of the following is the best definition of trade-off?
a. The financial loss of an alternative venture not pursued
b. The cost of any alternative decision foregone
c. The cost of the next best alternative foregone
d. A decision that has not been pursued due to the high risk
Explanation:
_________________________________________________________________________________________________________________________________________________________________________________________________________________________________

3. In each of the following examples state an opportunity cost.
	Example
	Opportunity cost

	Going to university
	

	A house extension
	

	£10 000 spent on advertising
	

	New machinery
	

	£50 000 investment in new product development
	



4. State three choices a business manager is likely to make on a regular or semi-regular basis.
· ____________________________________A
· _________________________
· _________________________
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